StH Westco

PLUMBING PARTS

ential range of Pre-Packed Plumbing Products




Contact us:

Tel: 01942 603 351

Web: www.westco.co.uk
Email: enquiries@westco.co.uk

STH Westco

Unit C6,

William Way,
Moss Ind. Est.

St Helens Road
Leigh, Lancashire
WN7 3PT

CONTENTS

OUR PRODUCTS
- YOUR CHOICE

WESTCO PROBLEM SOLVERS
PROBLEM SOLVER 1
PROBLEM SOLVER 2
WASHERS

OLIVES AND CLIPS

PLUGS & CHAINS

WASHING MACHINE ACCESSORIES
WASTE & ACCESSORIES
RADIATOR ACCESSOIRES
BRASSWARE

BATHROOM ACCESSORIES
COMPRESSION FITTINGS

GAS PRODUCTS

10- 11

12-14

15

16 -17

17 -18

18-19

19

19

19 - 20

21

21



OUR PRODUCTS
- YOUR CHOICE

Easy to stock and easy to sell, Problem solver
display stands can also be ordered as stand alone
units allowing you the flexibilty to order Pre-
Packaged Plumbing Parts separately and on an
ongoing basis to suit your customers requiremnets.

Barcoded and packaged to be sold from the Problem
Solver display stands the Pre-Packaged Plumbing Parts
range contains a wide selection of plumbing and heating
components that cover every need imaginable.

Attractively packaged in fully branded, high visibility bags, STH
WESTCO's Pre-Packed Plumbing Parts are designed to increase
Merchant sales by providing an eye-catching, quick and easy
solution to customers looking for a fast effective solution.

Order Pre-Packaged Plumbing Parts from this product guide,
display them prominetly on Probelm Solver display stands
throughout the store, and watchd them fly out the door.
Stay fully stocked at all times with the Pre-Packed Plumbing
Parts that your customers need for their day-to-day work.




WESTCO PROBELM
SOLVERS

Problem solver stands stock a full range of Westco
Plumbing Parts that cater for a wide selection of
customer’s everyday purchasing needs, as well as
encouraging impluse purchasing of other useful
plumbing and heating parts which are displayed.

THE PROBLEM SOLVER RANGE

Available in two convenient sizes, both problem solver
stands are easy to assemble, sturdy in construction, and
come with an attractive silver finish that compliments and
showcases our vast range of Pre-Packed Plumbing Parts.

PROBLEM SOLVER 1

Available as countertop or wall hung unit. Problem solver 1 is
supplied with 30 x 4" hooks to display Pre-Packed Plumbing Parts.
Problem Solver 1 comes as a complete unit with an array of 30
carefully chosen fast selling barcoded Pre-Packed Plumbing Parts.

PROBLEM SOLVER 2

Available as a floor mounted unit, Problem Solver 2 is
supplied with 50 x 8” hooks to display a comprehensive
range of Pre-Packed Plumbing Parts.

Problems Solver 2 comes as a complete unit with 50
fast selling barcoded Pre-Packed Plumbing Parts.

m Westco




PROBLEM SOLVER 1

A compact selection of essentials, perfec for creating

a full range of plumbing products.

PROBLEM SOLVER 1

This stand can be used as a countertop

or wall hung unit. Stand complete
with products. Silver finished
stand supplied with 30 products
(as per planogram) and hooks.

Product Code: 87115

Stand Code: UW87115
Stand Alone Code: UW87007

Height
Depth > Width
Dimensions:
Height: 1175mm
Width: 660mm

Depth: 200mm

| PLUMBING PARTS

PLUMBING PARTS G Westco

The essential range of Pre-Packed
products from STH Westco.

Product Code Description Quantity In | Number Of
Bag Bags

80401 1/2" VACCA WASHER FLAT 10 10
80403 3/4" VACCA WASHER FLAT 10 9
80411 1/2" PEGLER WASHER FLAT 5 10
80412 3/4" PEGLER WASHER FLAT 5 10
80415 1/2" DELTA TAP WASHER 5 10
23452 11/4" TORBECK WASHER 1 4
80430 1/2" POLY WASHER 10 10
80435 11/4" BASIN POLY WASHER 5 7
80456 1/2" TOP HAT WASHER 2 5
80457 3/4" TOP HAT WASHER 2 5
23450 11/4" DIAPHRAGM WASHER 5 4
06500 BRASS RADIATOR CLOCK TYPE KEY 1 5
80458 1/2" MT COCK WASHER 5 10
80461 RUBBER SHOWER FLEX WASHER 5 10
27108 WASHMAC HOSE WASHER 5 10
14100 1/2" FIBRE CAP & LINING WASHER 10 12
14101 3/4'"FIBRE CAP & LINING WASHER 10 12
50855 SMALL AND LARGE C HOOK 1 10
35948 15MM BRASS OLIVE 10 9
35949 22MM BRASS OLIVE 5 9
35952 3/4" BRASS OLIVE 5 9
79400 HOSE CLIP (SIZE 00) 12MM - 20MM 2 7
79401 HOSE CLIP (SIZE 0) 16MM - 25MM 2 7
79402 HOSE CLIP (SIZE OX) 16MM - 27MM 2 7
47820 11/2" BLACK POLY PLUG 2 4
47833 13/4" BLACK POLY BATH PLUG 2 4
47802 12" BALL CHAIN & STAY 1 6
47810 18" BALL CHAIN & S HOOK 1 6
50805 NYLON LEVER ARM 1 5
UD67661 BRASS Y PIECE 1 3

Washer Flat

1.' -|'[.l'
Washer

80458
" MT C
Washer

35948

15mm Brass

Olive

80435
4

/

80441

Paly Bath
Plug

80412
3/4" Pegler
Washer Flat

80457
/4" Top Ha

Chain & 5

Hook

23452

Delta 11/4"
Tap Washer Torbeck
Washer

23450
11/4"
Diaphragm
Washer

79402

e Clip

50805 LUD&7 661
Mylon Lever Brass Y Piece
Arm

m Westco




Product Description Quantity Number Of

Code In Bag Bags
80401 1/2" VACCA WASHER FLAT 10 8 1
— PLUMBING PARTS i) Westco
80415 1/2" DELTA TAP WASHER 5 8 A
T - - The essential range of Pre-Packed
P R O B L E M 80412 3/4" PEGLER WASHER FLAT 5 s Pl"ﬂ‘ duc-ts fram STH Westco'
80461 RUBBER SHOWER FLEX WASHER 5 9
27108 WASHMAC HOSE WASHER 5 8
65367 SIAMP DIAPHRAGM WASHER 1 8
S O Lv E R 2 80430 1/2" POLY WASHER 10 8
80435 11/4" BASIN POLY WASHER 5 6
80456 1/2" TOP HAT WASHER 2 5
A Compact Selection of 80457 3/4" TOP HAT WASHER 2 5
essentials, perfec for creatinga 2" V7 TERE AT e 5 8
full range Of plumb’-ng products. 28771 3/4" FIBRE FLEXTAP WASHER 5 8
14100 1/2" FIBRE CAP & LINING 10 12
14101 3/4" FIBRE CAP & LINING 10 12
35939 15MM COPPER OLIVE 10 9
PROBLEM SOLVER 2 35940 22MM COPPER OLIVE 5 9
Stand complete with products. 25018 15V BRASS OLIVE 0 5
Silver finished stand supplied with 52
products (as per planogram) and hooks. 7 Z2MIM BRASS OLIVE 5 9
35952 3/4" BRASS OLIVE 5 9
Product Code: 87120 79400 HOSE CLIP SIZE 0O 2 4
Stand Code: UW871 20 79401 HOSE CLIP SIZE O 2 4
Stand Alone Code: UW87006 79402 HOSE CLIP SIZE OX ) 4
23451 11/4" HUSHFLOW WASHER 1 3
23450 11/4" DIAPHRAGM WASHER 5 6
1 0 23452 11/4" TORBECK WASHER 1 6
80458 1/2" MT COCK WASHER 5 8
47837 TAP HOLE STOPPER CP 1 3 Tap Hole
47838 TAP HOLE STOPPER WHITE 1 3 I-II.*:_; qiE
-|‘ } 61740 BASIN MATE SEAL 1 3
50855 SMALL & LARGE C HOOK 1 8
40400 STABILITY CHAIN & SPRING HOOK 1 2
06500 BRASS RADIATOR KEY CLOCK TYPE 1 5
63302 RADIATOR PLUG AND VENT PACK 1 5
Height 67661 BRASS Y PIECE WASHING MACHINE HOSE CONNECTOR 1 2
27089 15MM ANGLE WASHING MACHINE TAP 1 4
26520 15MM STRAIGHT WASHING MACHINE TAP 1 4
63300 15MM X 15MM X 3/4" WASHING MACHINE TEE 1 4
63301 SELF BORE WASHING MACHINE TAP 1 3
“ J 47824 11/2" CP PLUG WITH 12" CHAIN 1 4
% % 47825 13/4" CP PLUG WITH 18" CHAIN 1 4
Dep:h\‘ *W—' 47833 13/4” BLACK POLY BATH PLUG 5 3
47802 12" BALL CHAIN & STAY CP 1 6
Dimensions: 47810 18" BALL CHAIN & S HOOK CP 1 5
Height: 1835mm
Width: 94omm 47820 11/2" BLACK POLY PLUG 2 4
Depth: 410mm 47821 11/2" BLACK PLUG WITH 12" CHAIN 1 4
47823 13/4" BLACK PLUG WITH 18" CHAIN 1 4
50826 WHITE SEAT FITTING 1 2
50812 CLOSE COUPLING KIT 1 3
50815 RUBBER DOUGHNUT WASHER 1 3
27101 BLUE WASHMAC HOSE 1.5M 1 3

| PLUMBING PARTS Bi) Westco



12

WASHERS

| PLUMBING PARTS

Product Code Description Bag
Quantity
80401 1/2" VACCA WASHER FLAT 10
80403 3/4" VACCA WASHER FLAT 10
Product Code Description Bag
Quantity
80411 1/2" PEGLER WASHER FLAT 5
80412 3/4" PEGLER WASHER FLAT 5
Product Code Description Bag
Quantity
80415 | 1/2" DELTA TAP WASHER | 5
Product Code Description Bag
Quantity
80430 1/2" POLY WASHER 10
80435 11/4" BASIN POLY WASHER 5
Product Code Description Bag
Quantity
80456 1/2" TOP HAT WASHER 2
80457 3/4" TOP HAT WASHER 2
Product Code Description Bag
Quantity
28770 1/2" FIBRE FLEXTAP WASHER 5
28771 3/4" FIBRE FLEXTAP WASHER 5

Product Code Description Bag
Quantity
65367 | SIAMP DIAPHRAGM WASHER | 1
Product Code Description Bag
Quantity
50867 | OBLONG SYPHON WASHER | 5
Product Code Description Bag
Quantity
50815 | RUBBER DOUGHNUT WASHER | 1
Product Code Description Bag
Quantity
23451 | 11/4" HUSHFLOW WASHER | 1
Product Code Description Bag
Quantity
14100 1/2 FIBRE CAP & LINING WASHER 10
14101 3/4 FIBRE CAP & LINING WASHER 10
Product Code Description Bag
Quantity
80458 | 1/2" MT COCK WASHER | 5

m Westco

| PLUMBING PARTS

m Westco

13



WASHERS

Product Code Description Bag
Quantity
80461 | RUBBER SHOWER FLEX WASHER | 5
Product Code Description Bag
Quantity
27108 |WASHING MACHINE HOSE WASHER | 5
Product Code Description Bag
Quantity
23450 | 11/4" DIAPHRAGM WASHER | 5
14
Product Code Description Bag
Quantity

23452

| PLUMBING PARTS

| 11/4" TORBECK WASHER

E

o
o
©
©

m Westco

OLIVES AND CLIPS

Product Code Description Bag
Quantity
35939 15MM COPPER OLIVE 10
35940 22MM COPPER OLIVER 5
Product Code Description Bag
Quantity
35948 15MM BRASS OLIVE 10
35949 22MM BRASS OLIVE 5
35952 3/4" BRASS OLIVE 5
Product Code Description Bag
Quantity
79400 HOSE CLIP SIZE OO 2
79401 HOSE CLIP SIZE O 2
79402 HOSE CLIP SIZ OX 2

| PLUMBING PARTS

m Westco

15



PLUGS AND CHAINS

Product Code Description Bag
Quantity
47824 | 11/2" CP PLUG & 12" CHAIN | 1
Product Code Description Bag
Quantity
47825 | 13/4" CP PLUG & 18" CHAIN | 1
Product Code Description Bag
Quantity
47820 11/2" BLACK POLY PLUG 2
47833 1 3/4" BLACK POLY BATH PLUG 2
16
Product Code Description Bag
Quantity
47802 | 12" BALL CHAIN & STAY CP | 1
Product Code Description Bag
Quantity
47810 | 18" BALL CHAIN & S HOOK CP | 1
Product Code Description Bag
Quantity
47821 | 11/2" BLACK PLUG WITH 12" CHAIN | 1

| PLUMBING PARTS

i & S

PLUGS AND CHAINS

Product Code

Description Bag
Quantity

47823 | 13/4" BLACK PLUG WITH 18" CHAIN | 1

WASHING MACHINE ACCESSORIES

Product Code Description Bag
Quantity
UD67661 BRASS Y PIECE WASHING MACHINE 1
HOSE CONNECTOR
Product Code Description Bag
Quantity
27089 | 15MM ANGLE WASHING MACHINE TAP | 1
Product Code Description Bag
Quantity
26520 15MM STRAIGHT WASHING MACHINE 1
TAP
Product Code Description Bag
Quantity
63300 15MM X 15MM X 3/4" WASHING 1
MACHINE TEE
Product Code Description Bag
Quantity
UD63301 SELF BORE WASHING MACHINE TAP 1

| PLUMBING PARTS

17

Westco



WASHING MACHINE ACCESSORIES

Product Code Description Bag
Quantity
27101 ‘ BLUE WASHMAC HOSE 1.5M ‘ 1
Product Code Description Bag
Quantity
50805 | NYLON LEVER ARM | 1
Product Code Description Bag
Quantity
18 50855 | SMALL & LARGE C HOOK | 1
Product Code Description Bag
Quantity
61740 | BASIN MATE SEAL | 1
Product Code Description Bag
Quantity
47837 | TAP HOLE STOPPER CP | 1
Product Code Description Bag
Quantity

47838

| PLUMBING PARTS

| TAP HOLE STOPPER WHITE

E

N’

m Westco

WASTE AND ACCESSORIES

Product Code Description Bag
Quantity
50820 | ovERFLOW KIT K
Product Code Description Bag
Quantity
50804 | BRASS LEVER ARM K
RADIATOR ACCESSORIES
Product Code Description Bag
Quantity
06500 | BRASS RADIATOR KEY CLOCK TYPE | 1
Product Code Description Bag
Quantity
63302 RADIATOR PLUG AND VENT PACK 1
BRASSWARE
Product Code Description Bag
Quantity
24120 | 15MM CXC CP ISOLATING VALVE | 1
BATHROOM ACCESSORIES
Product Code Description Bag
Quantity
50826 | WHITE SEAT FITTING | 1

| PLUMBING PARTS

L

‘_’,-"‘

19



BATHROOM ACCESSORIES

Product Code Description Bag
Quantity
50812 | CLOSE COUPLING KIT | 1
Product Code Description Bag
Quantity
50472 | INTERNAL FLUSH PIPE CONNECTOR | 1
Product Code Description Bag
Quantity
50783 | GRAB TYPE HANDLE & BRASS ARM | 1
20
Product Code Description Bag
Quantity
50475 | GRAB TYPE CP HANDLE | 1
Product Code Description Bag
Quantity
50476 | FINGERTIP TYPE CP LEVER | 1
Product Code Description Bag
Quantity
50782 | CERAMIC/CHROME LEVER | 1

| PLUMBING PARTS

m Westco

COMPRESSION FITTINGS

Product Code Description Bag
Quantity
35910 | 15MM CXC COUPLING | 2
Product Code Description Bag
Quantity
35919 | 15MM cxc ELBOWS |2
Product Code Description Bag
Quantity
35923 | 15M CXCXC TEE | 2
Product Code Description Bag
Quantity
35926 | 15MM COMP STOPEND |2
Product Code Description Bag
Quantity
40400 | STABILITY CHAIN & SPRING HOOK | 1

| PLUMBING PARTS

m Westco

21






